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1. Convert — to degrees. ; 2. Convert 65° toradians.
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Sketch the angle Find one poszttve angle and one negattve angle that are cotermznal with each angle.

7. Find the values of the six tngonomemc functions of an angle in standard pos1t10n whose terminal side passes through

(3, -1). |
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For each function, find the values of the remaining five trigonometric functions of @with the gzven info.

_3 & _ 2 whee s SnD nea ¥
8. cosé?—s,tan9<0 Wwhore s ton % 9. sm9——3,tan9>0 tan © o3 7 ST

600 (o5P pos? BIL

3 A \
3
g v
5 v
N
3=+ yt=5%
b=\




j:‘: .

© bragnd ¢ lisy grz% L3 33

& &
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Calculator Allowed

22. Convert from DMS to decimal form: 38°23'36" 23, Covert from decimal form to DMS: 59.354°..
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24. The radius of a car wheel is 15 inches. How many revolutions per minute is the wheel making when the care is
traveling at 60 mph? l —~
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25. A bicyclist’s wheel is traveling at 250 revolutions per minute. If the bicycle tire has a diameter of 29 inches, what is

the bicyclist’s speed in miles per hour? m L,, - \rev = 3“—(\4.
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28. Given: §=-145°. Change to radian measurg in terms of .
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29. Given: §=-1radian. Change to degree meastie.
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Given the measurement of a central angle, find the measure of its intercepted arc in terms of xin a circle of diameter 30
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32. The measure of an arc is 10 cm. Find the degree measure to the—nea-rest—teﬂfeh of the central angle it subtends in a
circle of radius 16 cm. \"g‘)
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33. A cable from the top of a 100 ft cell phone tower makes a 50° angle with the ground How long is the cable?
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. 34. To measure the width of a river, a surveyor starts at point A on one .
bank and walks 75 feet down the river to point B. She then measures the
angle ABC to be 21°37'15". Find the width of the river to the nearest foot. o0 : \ S“
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